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(1) int i=1; while(i<2){i+=5;System.out.print('*");}

(2) int i=5; while(i<2){System.out.print('*"');i-=5;}
(3) int i=5; do{System.out.print('*');i--;}while(i!=2);
(4) Afor(int i=0; i<4; i+=1){System.out.print('*');i-=2;}
(5) for(int i=1,j=0; i-j<3; i+=2,j++) System.out.print('*");
(6) for(int i=@; i<3; i++){
for(int j=i; j»@; j--) System.out.print(j);
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int[] aryl={1,2,3};

int[][] ary2={{e,1},{2},{3,4,5}};

(1) System.out.print(aryl[@]);

(2) System.out.print(aryl[aryl[1]]);

(3) System.out.print(aryl[aryl.length-1]);

(4) System.out.print(ary2[0][1]);

(5) System.out.print(ary2[1][@]);

(6) System.out.print(ary2[1].length);
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1 class Final6{
2 public static void main(String[] args){
3 int sum=0;
4 int[] a={1,2,3};
5: int[] b=a;
6 a[@]=b[1];
7 System.out.println(b[0]); *1
8 b[2]=a[1];
9 System.out.println(a[2]); *2
10: for(int i:a)sum+=i;
11: System.out.println(sum); *3
12: }
13: }
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1 import java.io.*;

2 class Final5{

3 public static void main(String[] args) throws IOException{
4 BufferedReader br;

5: br=new BufferedReader(new InputStreamReader(System.in));
6 int m=-1;

7 do{

8 m=Integer.parselnt(br.readLine());

9: if(m==7)break;

10: Ywhile(!(m>=0 && m<=6));

11: switch(m){

12: case 7: System.out.println("PWOFF");break;

13: default:System.out.println("MODE"+m) ;break;

14: }

15: }

16: }
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1 import java.io.*;

2 class Final7{

3 public static void main(String[] args) throws IOException{

4 BufferedReader br;

5: br = new BufferedReader(new InputStreamReader(System.in));

6 int num, input, cnt=0;

7 num=(int) (1499*Math.random()); // 1 D5 99 ETOEEERE

8 (1 ]{

9: {2 1;

10: if(ent>10) [ 3 ] ;

11: System.out.println(cnt+"@EDFE (1~99) ZAHLTIZE\");

12: input=Integer.parseInt(br.readLine());

13: if(input>num)System.out.println("AEW\TI");

14: else if(input<num)System.out.println("/\ESL\TI");

15: while(input [ 4 ] num);

16: if(ent!= [ 5 ] ) System.out.println("IEfZD>");

17: else System.out.println("8&& IEfRE"+num+" TUIZ. ");

18: }

19: }
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